Substitution Method 2

When y is not by itself you have to arrange it first before
substituting.

ex1) 2+y=8
X+y=95
Steps:
1. Rearrange one equation so x or y is by itself.
=-Y+ 5

2. Then substitute into the{otherjequation and solve for x.
2 (-y+5)+y=8
-3y +*lory=18
—y==2
Y=2

3. Take your answer for x or y and sub intd\either equation to
find the coordinate.

X+a=656
X=173

4. Write as a coordinate point together (X, y).

(3, 3)



ex2) 5x- 9[\8

2x+2@

(Bx-9=yY

ax+ a(Sx-8)=]

AX +1ox-lb= 8

\ax= 34
) \
K=



